
FILE: REVISION:

DRAWN BY: PAGE OF

TITLE
Power Board v4
power-v4-hw.git/power-1-title.sch

1 6 Richard Barlow <richard@richardbarlow.co.uk>

Page Description
1

2

3

Title, Block Diagram

Battery (Overcurrent and Polarity Protection, Battery Monitoring)

Supply (Power Switch, UVLO, 3V3 & 5V SMPS, Output Control and Monitoring)

The full source of this design is available at:
https://www.studentrobotics.org/git/boards/power-v4-hw.git

USB

µC

B

Battery
Overcurrent
and Polarity
Protection

Battery
Monitoring

Power
Switch

3V3 SMPS
+ UVLO

5V
SMPS

Output Control
and Monitoring

12V Output Control and Monitoring

High
Power

Low
Power

High
Power

Low
Power

Low
Power

Low
Power

Beagle-
Bone

4 Output (12V Output Control and Monitoring)

5 Control (µC, USB)

Iq = 10µA

Iq = 8µA Iq = 2µA

Iq = 0.4µA
Iq = 0.4µA

The UVLO activates when the cell voltage reaches ~3.2V (9.6V total),
leaving around 20mAh of charge in the battery (2200mAh battery).

If the board has been left switched on the quiescent current at 9.6V will
be ~21µA, giving a run time of approximately 40 days until the battery is
potentially damaged.

If the board has been switched off with the battery at 50% the quiescent
current will be ~13µA, giving a run time of approximately 9.5 years.

6 Mechanical



FILE: REVISION:

DRAWN BY: PAGE OF

TITLE
Power Board v4 - Battery
power-v4-hw.git/power-2-battery.sch

2 6 Richard Barlow <richard@richardbarlow.co.uk>

B

F1
sr-fuse-40000-midi

4

8

1

765

23

Q1
sr-fet-n-irfh5301

R5
sr-r-10k-0402

J1
sr-cn-7460305

J2
sr-cn-7460305

J3
sr-cn-7460305

1
2

B1
sr-nothing

T
ur

ni
gy

 2
20

0m
A

h
20

C
 L

ip
o

D1
sr-d-smaj15ca

C1
sr-c-100n-0603-50v

4

8

1

765

23

Q2
sr-fet-n-irfh5301

1
2

C2
sr-c-ucw1e471mnl1gs

VBATT

R1
sr-r-1m-2512-1w

R2
sr-r-1m-2512-1w

R3
sr-r-10-0402

R4
sr-r-10-0402

C4
sr-c-100n-0402-16v

GND

SDA

SCL

C5
sr-c-100n-0402-16v

1 Vin+

2 Vin- 6SDA

5SCL

3
GND

4
Vs

7
A0

8
A1

U1
sr-ic-ina219

TP1

TP4

TP2

TP7

TP9

TP8

TP5 TP6

TP3

C6
sr-c-1u-0402-10v

+3V3

2

1
D2
sr-d-pesd5z12

C3
sr-c-10u-1206-16v

The battery connects via a captive cable bolted
to J1 and J3 with ring terminals



FILE: REVISION:

DRAWN BY: PAGE OF

TITLE
Power Board v4 - Supply
power-v4-hw.git/power-3-supply.sch

3 6 Richard Barlow <richard@richardbarlow.co.uk>

B

C8
sr-c-100n-0402-16v

C10
sr-c-22u-0805-10v

C7
sr-c-10u-1206-16v

C9
sr-c-22u-0805-10v

R9
sr-r-180k-0402

R12
sr-r-57k6-0402

C11
sr-nothing

L1
sr-l-22u-380ma

8
Vbst

EP
PGND

9
Vin

4
SS

6
SW

2
Vfb

10
Vin

7
SW

3
Vreg5

5 GND

1
EN

U3
sr-ic-tps54327drc

C15
sr-c-100n-0402-16v

C18
sr-c-22u-0805-10v

C22
sr-c-10n-0402-25v

C17
sr-c-100n-0402-16v

C23
sr-c-1u-0402-10v

C14
sr-c-10u-1206-16v

C16
sr-c-22u-0805-10v

R13
sr-r-57k6-0402

R16
sr-r-10k-0402

C19
sr-c-10p-0402-50v

L2
sr-l-3u3-3000ma

5V

Pin 5, SS cap and FB resistors
connect to GND at single point

2

1

J6
sr-cn-minicamcon2w

5V Out

2

1

J7
sr-cn-minicamcon2w

R19
sr-r-200-0402

1
2

DS2
sr-led-green-0805

R10
sr-r-100-0402

+3V3

VBATT

GND

5VEN

+3V3

21

J4
sr-cn-camcon2w-5mm

External power switch

3

2 1
D3
sr-d-mmbz15val

R15
sr-r-10k-0402

2
1

D4
sr-d-bzx384c3v3

2
1

D6
sr-d-mmsz4689t1g

R14
sr-r-10m-0805

1 Vin+

2 Vin- 6SDA

5SCL

3
GND

4
Vs

7
A0

8
A1

U4
sr-ic-ina219

R17
sr-r-10-0402

R18
sr-r-10-0402

C25
sr-c-100n-0402-16v

C24
sr-c-100n-0402-16v

+3V3

SDA

SCL

SDA

SCL

C20
sr-c-22u-0805-10v

C21
sr-c-22u-0805-10v

VBATTSW

TP10

TP12

TP14

TP11

TP17

TP15 TP16

2

1
D5
sr-d-smaj5.0a

R20
sr-r-150k-0402

5VTRIM

5VTRIM

F2
sr-fuse-r125-1206

F4
sr-fuse-r1850-2920

2

1

J5

Fan
(soldered to board)

1

3

2

Q3
sr-fet-n-bsh121

R6
sr-r-10k-0402

FAN

F3
sr-fuse-r125-1206

FAN

6
VOS

EPEP

2
Vin

4
EN_hys

8
PG

5
FB

7
SW

1 GND

3
EN

U2
sr-ic-tps62125dsg

R7
sr-r-4700k-0402

R8
sr-r-576k-0402

R11
sr-r-64k9-0402

TP13
C12
sr-c-100n-0402-16v

TPS62125 has an enable comparator with a rising threshold of 1.2V and falling threshold
of 1.15V. The EN_hys pin is pulled low when the SMPS is disabled, therefore allowing
for additional hysteresis to be added with an external resistor.

The values chosen give a rising supply threshold of 11.1V and a falling threshold of 9.6V.
This should ensure that the board does not turn on if an almost flat battery is connected
and that once the UVLO has tripped, it will not oscillate as the battery voltage recovers
slightly.

The capacitor connected to the EN pin forms a low-pass filter with the resistors, having
a time constant of 56ms. This is to prevent false triggering of the UVLO when outputs
connected to large capacitances are turned on. This allows for up to 400mF on an output.

4
3

DS1
sr-led-redgreen-0805

C13
sr-c-10u-1206-16v

FAN

X2
sr-fan-40-10-12v

2
3
1

5
6
4

S1
sr-sw-spph410100

Internal power switch

PWRSW

PWRSW

R74
sr-r-10k-0402

C63
sr-c-100n-0402-16v

R75
sr-r-1k-0402

5VEN



FILE: REVISION:

DRAWN BY: PAGE OF

TITLE
Power Board v4 - Output
power-v4-hw.git/power-4-output.sch

4 6 Richard Barlow <richard@richardbarlow.co.uk>

B

8 CS1

6 IN1

2 GND

EP

13

14

10 CS2

4 IN2

11 CS_DIS

15

16

17

18

19

20

21

22

23

24

1

12

U5
sr-ic-vnd5012

8 CS1

6 IN1

2 GND

EP

13

14

10 CS2

4 IN2

11 CS_DIS

15

16

17

18

19

20

21

22

23

24

1

12

U6
sr-ic-vnd5012

8 CS1

6 IN1

2 GND

EP

13

14

10 CS2

4 IN2

11 CS_DIS

15

16

17

18

19

20

21

22

23

24

1

12

U7
sr-ic-vnd5012

8 CS1

6 IN1

2 GND

EP

13

14

10 CS2

4 IN2

11 CS_DIS

15

16

17

18

19

20

21

22

23

24

1

12

U8
sr-ic-vnd5012

OUTH0RAW

OUTH1RAW

OUTL1RAW

OUTL3RAW

C27
sr-c-100n-0402-16v

C26
sr-c-10u-1206-16v

VBATT

C32
sr-c-100n-0402-16v

C30
sr-c-10u-1206-16v

VBATT

C37
sr-c-100n-0402-16v

C36
sr-c-10u-1206-16v

VBATT

C43
sr-c-100n-0402-16v

C42
sr-c-10u-1206-16v

VBATT

CS1RAW

CS0RAW

CSDIS0

CS1RAW

CS0RAW

CS1RAW

CS0RAW

CS1RAW

CS0RAW

2

1

J8
sr-cn-camcon2w

High Power 0

R21
sr-r-1k-0805

C28
sr-c-100n-0402-16v

2

1

J9
sr-cn-camcon2w

High Power 1

R28
sr-r-1k-0805

C33
sr-c-100n-0402-16v

2

1

J10
sr-cn-camcon2w

Low Power 0

R35
sr-r-1k-0805

C38
sr-c-100n-0402-16v

OUTL0RAW

2

1

J11
sr-cn-camcon2w

Low Power 1

R38
sr-r-1k-0805

C41
sr-c-100n-0402-16v

2

1

J12
sr-cn-camcon2w

Low Power 2

R41
sr-r-1k-0805

C44
sr-c-100n-0402-16v

OUTL2RAW

2

1

J13
sr-cn-camcon2w

Low Power 3

R46
sr-r-1k-0805

C47
sr-c-100n-0402-16v

R25
sr-r-10k-0402

CSDIS1

R32
sr-r-10k-0402

OUTH0EN

OUTH1EN

CSDIS2

CSDIS3

OUTL0EN

OUTL1EN

OUTL2EN

OUTL3EN

R44
sr-r-560-0402

R42
sr-r-10k-0402

C45
sr-c-10n-0402-25v

CS0RAW

CS0

VBATT

GND

R22
sr-r-10k-0402

R26
sr-r-3k3-0402

C29
sr-c-100n-0402-16v

R45
sr-r-560-0402

R43
sr-r-10k-0402

C46
sr-c-10n-0402-25v

CS1RAW

CS1

OUTH0RAW

OUTH0

R23
sr-r-10k-0402

R27
sr-r-3k3-0402

C31
sr-c-100n-0402-16v

OUTH1RAW

OUTH1

R29
sr-r-10k-0402

R33
sr-r-3k3-0402

C34
sr-c-100n-0402-16v

OUTL0RAW

OUTL0

R30
sr-r-10k-0402

R34
sr-r-3k3-0402

C35
sr-c-100n-0402-16v

OUTL1RAW

OUTL1

R36
sr-r-10k-0402

R39
sr-r-3k3-0402

C39
sr-c-100n-0402-16v

OUTL2RAW

OUTL2

R37
sr-r-10k-0402

R40
sr-r-3k3-0402

C40
sr-c-100n-0402-16v

OUTL3RAW

OUTL3

R24
sr-r-4k7-0402

R31
sr-r-4k7-0402

CSDIS0OUTH0

OUTH1EN

OUTL0EN

OUTL1EN

OUTL2EN

OUTL3EN

OUTH1

OUTL0

OUTL1

OUTL2

OUTL3

CS0

CS1

OUTH0EN

CSDIS1

CSDIS2

CSDIS3

TP19

TP24

TP30

TP25

TP32

TP35

TP40

TP37

TP47

TP43

TP49

TP48

TP18

TP23

TP29

TP38

TP42

TP46

TP41

TP44

TP34 TP36

TP27 TP28

TP21 TP22

TP20

TP26

TP31

TP33

TP39

TP45

2

1
D7
sr-d-pesd5z12

2

1
D8
sr-d-pesd5z12

2

1
D9
sr-d-pesd5z12

2

1
D10
sr-d-pesd5z12

2

1
D11
sr-d-pesd5z12

2

1
D12
sr-d-pesd5z12

54

RN3
sr-ra-4-10k-0402

81

RN1
sr-ra-4-10k-0402

63

RN3
sr-ra-4-10k-0402

54

RN1
sr-ra-4-10k-0402

72

RN3
sr-ra-4-10k-0402

81

RN3
sr-ra-4-10k-0402

63

RN1
sr-ra-4-10k-0402

72

RN1
sr-ra-4-10k-0402

5
4

RN2
sr-ra-4-4k7-0402

6
3

RN2
sr-ra-4-4k7-0402

7
2

RN2
sr-ra-4-4k7-0402

8
1

RN2
sr-ra-4-4k7-0402

4
3

DS4
sr-led-redgreen-0805

4
3

DS3
sr-led-redgreen-0805

4
3

DS5
sr-led-redgreen-0805

4
3

DS6
sr-led-redgreen-0805

4
3

DS7
sr-led-redgreen-0805

4
3

DS8
sr-led-redgreen-0805



FILE: REVISION:

DRAWN BY: PAGE OF

TITLE
Power Board v4 - Control
power-v4-hw.git/power-5-control.sch

5 6 Richard Barlow <richard@richardbarlow.co.uk>

B

C54
sr-c-100n-0402-16v+3V3

+3V3

+3V3

C55
sr-c-1u-0402-10v

L3
sr-fb-200m-1k-0402

C49
sr-c-100n-0402-16v

C50
sr-c-100n-0402-16v

C51
sr-c-100n-0402-16v

C52
sr-c-100n-0402-16v

C53
sr-c-22u-0805-10v

VTref
1

TMS/SWDIO
2

GND
3

TCK/SWCLK
4

GND
5

TDO/SWO
6

TDI
8

GNDDetect
9

nRESET
10

J17
sr-cn-header2x5-1.27mm

nRESET
+3V3

nRESET

C62
sr-c-100n-0402-16v

1 3

2 4

Y1
sr-xtal-abmm2-8.000mhz-e2-tR63

sr-r-100-0402

C60
sr-c-27p-0402-50v

C61
sr-c-27p-0402-50v

OUTH0EN

SDA

SCL

OUTH1EN

OUTL0EN
OUTL1EN
OUTL2EN
OUTL3EN

CSDIS0

CSDIS2
CSDIS3

CSDIS1
CS0
CS1

OUTH0
OUTH1
OUTL0
OUTL1
OUTL2
OUTL3

1
VBUS

2
D-

3
D+

4
ID

5
GND

6
SHIELD

U
S

B

J16
sr-cn-usb-micro-b

C59
sr-c-100n-0603-50v

R58
sr-r-1000k-0402

R59
sr-r-10k-0402

VBAT
1

VSSa
12

VDDa
13

VSS4
18

VDD4
19

VSS1
31

VDD1
32

VSS2
47

VDD2
48

VSS3
63

VDD3
64

U10
sr-ic-stm32f103r6

TAMPER-RTC/PC13
2

OSC32_IN/PC14 3

OSC32_OUT/PC15 4

OSC_IN/(PD0) 5

OSC_OUT/(PD1) 6

RST
7

ADC_IN10/PC0 8

ADC_IN11/PC1 9

ADC_IN12/PC2 10

ADC_IN13/PC3 11

PA0/ADC_IN0/WKUP14

PA1/ADC_IN115

PA2/ADC_IN2/USART2_TX16

PA3/ADC_IN3/USART2_RX17

PA4/ADC_IN420

PA5/ADC_IN521

PA6/ADC_IN622

PA7/ADC_IN723

ADC_IN14/PC4 24

ADC_IN15/PC5 25

PB0/ADC_IN826

PB1/ADC_IN927

PB2/BOOT1*
28

PB10*
29

PB11*
30

PB12*
33

PB13*
34

PB14*
35

PB15*
36

*PC6
37

*PC7
38

*PC8
39

*PC9
40

PA8*
41

PA9/USART1_TX*42

PA10/USART1_RX*43

PA11/USBDM*
44

PA12/USBDP*
45

*TMS/(PA13) 46

*TCK/(PA14) 49

*TDI(PA15) 50

*PC10
51

*PC11
52

*PC12
53

*PD2
54

*TDO/(PB3) 55

*TRST/(PB4) 56

PB5
57

PB6/I2C1_SCL*58

PB7/I2C1_SDA*59

BOOT0
60

PB8*
61

PB9*
62

U10
sr-ic-stm32f103r6

+3V3

GND

+3V3

2

1

J15
sr-cn-minicamcon2w

External Start Button

R57
sr-r-4k7-0402

R52
sr-r-4k7-0402

C56
sr-c-100n-0402-16v

C58
sr-c-100n-0402-16v

STATH0
STATH1

STATL0
STATL1
STATL2
STATL3

R65
sr-r-100-0402

STATH0

R66
sr-r-100-0402

STATH1

R67
sr-r-100-0402

STATL0

R68
sr-r-100-0402

STATL1

R69
sr-r-100-0402

STATL2

R70
sr-r-100-0402

STATL3

R71
sr-r-100-0402

FLAT

R72
sr-r-100-0402

RUN

R73
sr-r-100-0402

ERROR

RUN
ERROR

3

2

4

1

5

6

J14
sr-cn-header6

F
T

D
I p

in
ou

t U
A

R
T

R60
sr-r-1k-0402

R61
sr-r-1k-0402

+3V3

1 VBUS

2 DIN

3 DIN

6GND

5DOUT

4DOUT

U11
sr-ic-stf202

USB_EN USB_EN

USB_EN line should be driven high
to initiate enumeration and tri-stated
to cause a bus reset. It should not
be driven low.

R49
sr-r-1k-0402

R50
sr-r-1k-0402

3

2 1

D15
sr-d-mmbz15val

R62
sr-r-10k-0402

BOOT0

BOOT0

3

2 1

D14
sr-d-mmbz15val

R48
sr-r-1k-0402

R47
sr-r-10k-0402 +3V3

BOOT0 connects to RTS line to allow control from host
3V3 rail pulls CTS line low to allow power-up detection

R53
sr-r-10k-0402

R56
sr-r-10k-0402

USB_DETECT

USB_DETECT Internal pull-up and cap
forms a low-pass filter,
gives debouncing with the
schmitt trigger input

1

3

2

Q4
sr-fet-n-bsh121

VBATTSW

X1
sr-piezo-pkm13epy-4000-a0

1

3

2

Q5
sr-fet-n-bsh121

R55
sr-r-4k7-0402

PIEZO

R51
sr-r-680-1206

VBATTSW

PIEZO

3
Vout

4
Vdd

2
GND

U9
sr-ic-mcp9701at

C48
sr-c-100n-0402-16v

+3V3

TEMP

TEMP

1 2

3

D13
sr-d-bat754c

+3V3

R64
sr-r-10k-0402

+3V3

TP50

TP51

TP52

TP56

TP57 TP58

TP55

TP53 TP54

2

1
D17
sr-d-pesd5z12

2

1
D16
sr-d-pesd5z12

5VTRIM

5VEN

FAN

1
2

DS3
sr-nothing

1
2

DS4
sr-nothing

1
2

DS5
sr-nothing

1
2

DS6
sr-nothing

1
2

DS7
sr-nothing

1
2

DS8
sr-nothing

+3V3 +3V3 +3V3

Place 22u cap
next to VDD3

R54
sr-r-10k-0402

C57
sr-c-100n-0402-16v

1
2

DS1
sr-nothing

4
3

DS9
sr-led-redgreen-0805

1
2

DS9
sr-led-redgreen-0805

The LEDs marked 'sr-nothing' have their value set on the
power-3-supply.sch and power-4-output.sch pages.
This is due to the inability of the BOM generation script
to detect slotted symbols across schematics files.

FLAT

Output Status LEDs

5
6 4

2
3 1

S2
sr-sw-spph410200

Internal Start Button

PWRSW



FILE: REVISION:

DRAWN BY: PAGE OF

TITLE
Power Board v4 - Mechanical
power-v4-hw.git/power-6-mechanical.sch

6 6 Richard Barlow <richard@richardbarlow.co.uk>

B

MP1

sr-mech-screw-nylon-csk-m3-16

MP2

sr-mech-washer-nylon-m3

MP3

sr-mech-nut-nylon-m3

Misc

MP4

sr-mech-bush-nylon-m3-8

MP5

sr-mech-screw-nylon-csk-m3-16

MP6

sr-mech-washer-nylon-m3

MP7

sr-mech-nut-nylon-m3

Misc

MP8

sr-mech-bush-nylon-m3-8

Fan mounting

Screw

Washer
Nut
Bush

Case
MP9

sr-mech-screw-nylon-csk-m3-6

MP10

sr-mech-screw-nylon-csk-m3-6

MP11

sr-mech-screw-nylon-csk-m3-6

MP12

sr-mech-screw-nylon-csk-m3-6

MP14

sr-mech-screw-nylon-csk-m3-6

MP15

sr-mech-screw-nylon-csk-m3-6

MP16

sr-mech-screw-nylon-csk-m3-6

MP17

sr-mech-screw-nylon-csk-m3-6

Misc

MP19

sr-mech-spacer-ni-m3-18

Misc

MP20

sr-mech-spacer-ni-m3-18

Misc

MP21

sr-mech-spacer-ni-m3-18

Misc

MP22

sr-mech-spacer-ni-m3-18

Captive Cable Hardware
MP23

sr-mech-screw-bzp-ch-m5-6

MP24

sr-mech-screw-bzp-ch-m5-6

MP25

sr-mech-screw-bzp-ch-m5-6

MP26

sr-mech-washer-bzp-m5-spr

MP27

sr-mech-washer-bzp-m5-spr

MP28

sr-mech-washer-bzp-m5-spr

Misc

MP29

sr-mech-buttoncap-pvrd

Misc

MP30

sr-mech-buttoncap-pvbk

Button Caps

Misc

MP13
sr-nothing

case.dxf in 3mm clear acrylic
Misc

MP18
sr-nothing

case_sticker.svg in clear vinyl window sticker


